Bitspower’

Dual/Single D5 Top Upgrade Kit
Installation Guide

@ BP-ACSTI

O
e Z-CAP 11 With G1/4"

O-Ring For Water Tank

Z-Tube

D5TOP Adaptor

M3X12 Screws
A

O-Ring For D5TOP Adaptor

M4X6 Screws

Dual D5 MOD
O-Ring For D5TOP Adaptor

Vertical Holding Bracket

Anti-Vibration PAD

D5/MCP655 MOD KIT [EIZE=l

Before fill in water, please make sure all the component
be installed correctly , avoiding leaking happen and destroy the PC component.



© BP-ACSTI
S

Z-CAP Il With G1/4"

@ O-Ring For Water Tank
N

Z-Tube

M3X12 Screws

O-Ring For D5TOP Adaptor
D5TOP Adaptor

O-Ring For D5TOP Adaptor
14MM Acrylic Anti-Air Chamber
D5 MOD TOP

St

)— M4X6 Screws

O-Ring For D5 MOD TOP

Vertical Holding Bracket

MCP655 Pump

Before fill in water, please make sure all the component
be installed correctly , avoiding leaking happen and destroy the PC component.




